

On initial Coefficients Estimates for Certain New Subclasses of Bi-Univalent Functions Defined by a Linear Combination

Aqeel Ketab Al-Khafaji

Department of Mathematics
College of Education for Pure Sciences
University of Babylon
51002 Babylon, Iraq

email: aqeelketab@gmail.com

(Received November 12, 2019, Accepted December 12, 2019)

Abstract

In the present paper, we introduce and study coefficient bounds for certain new subclasses of bi-univalent functions. For this purpose, we make use of a linear combination of the functions: $\frac{zf''(z)}{f'(z)}$ and $f'(z)$. For a function belonging to the normalized univalent function class S , we obtain estimates on the initial Taylor-Maclaurin coefficients $|a_2|$, $|a_3|$ and $|a_4|$ for the functions in two new subclasses of the function class Σ of bi-univalent functions defined on the open unit disc $U = \{z \in \mathbb{C} : |z| < 1\}$.

1 Introduction

Let M denote the class of functions f of the form

$$f(z) = z + \sum_{n=2}^{\infty} a_n z^n, \quad (1.1)$$

Key words and phrases: Analytic function, Univalent function, Bi-univalent functions, Coefficient estimates.

AMS (MOS) Subject Classifications: 30C45, 30C50.

ISSN 1814-0432, 2020, <http://ijmcs.future-in-tech.net>

which are analytic in the open unit disk $U = \{z \in C : |z| < 1\}$ and satisfy the normalization condition $f(0) = f'(0) - 1 = 0$.

Also let S be the class of the functions $f \in M$ of the form given by (1), which are univalent in U .

The Kobe One-Quarter Theorem [3] shows that the image of U under every function f from S contains a disc of radius $\frac{1}{4}$. Thus every such univalent function has an inverse f^{-1} which satisfies

$$f^{-1}(f(z)) = z, \quad (z \in U)$$

and

$$f^{-1}(f(w)) = w, \quad (|w| < r_0(f), r_0(f) \geq 1/4),$$

where

$$f^{-1}(w) = w - a_2w^2 + (2a_2^2 - a_3)w^3 - (5a_2^3 - 5a_2a_3 + a_4)w^4 + \dots \quad (1.2)$$

A function $f(z) \in M$ is said to be bi-univalent in U [3], if both $f(z)$ and $f^{-1}(z)$ are univalent in U . Let Σ denote the class of bi-univalent functions in U given by the Taylor-Maclaurin series expansion (1.1).

In 1967, Lewin [5] investigated the class Σ and proved that $|a_2| < 1.51$; in 1969, Netanyahu [9] showed that $\max_{f \in \Sigma} |a_2| \leq 4/3$ and in 1980, Brannan and Clunie [1] conjectured that $|a_2| \leq \sqrt{2}$. However, the problem of coefficient estimate for $|a_n|$, ($n = 3, 4, \dots$) is still open.

Recently, several researchers [4,6,7,8,10,12,13] obtained the coefficients $|a_2|, |a_3|$ of bi-univalent functions for the different subclass of the function class Σ . Motivated by this, the author introduces a new subclass of the function class Σ .

The objective of the present paper is to introduce two new subclasses $K_{\Sigma}^{\lambda, \alpha}$ and $K_{\Sigma}^{\lambda, \beta}$ of the function class Σ of bi-univalent functions defined on the open unit disc U and obtain improved estimates on the initial coefficient $|a_2|, |a_3|$ and $|a_4|$ for the functions in these subclasses. But the problem of coefficient estimate for $|a_n|$, ($n \in N - \{1, 2, 3, 4\}$) is still open. In order to prove our main results, we need the following lemma [11]:

Lemma 1.1. *If $h \in P$, then $|t_k| \leq 2$ for each k , where P is the family of all functions h analytic in U for which $Re\{h(z)\} > 0$,*

$$h(z) = 1 + t_1z + t_2z^2 + t_3z^3 + \dots \quad \text{for } z \in U$$

2 Main results

2.1 Coefficient estimates of the function class $K_{\Sigma}^{\lambda, \alpha}$

Definition 2.1. A function $f \in \Sigma$ given by (1.1) is said to be in the class $K_{\Sigma}^{\lambda, \alpha}$ if the following conditions are satisfied

$$f \in \Sigma_m \text{ and } |\arg((1 - \lambda)f'(z) + \lambda(1 + (\frac{zf''(z)}{f'(z)})))| < \frac{\alpha\pi}{2}, \quad (2.3)$$

$$(0 \leq \lambda < 2, 0 < \alpha \leq 1, z \in U)$$

$$f \in \Sigma_m \text{ and } |\arg((1 - \lambda)g'(w) + \lambda(1 + (\frac{zg''(w)}{g'(w)})))| < \frac{\alpha\pi}{2}, \quad (2.4)$$

$$(0 \leq \lambda < 2, 0 < \alpha \leq 1, w \in U),$$

where the function g is given by (1.2).

By appropriate parameters λ , we can get several known subclasses of bi-univalent function class Σ . For example, we note that for $\lambda = 0$ the class $K_{\Sigma}^{\lambda, \alpha}$ reduces to the class $H_{\Sigma}(\alpha)$ introduced and studied by Srivastava et al. [14]. On the other hand, in the special case, when $\lambda = 1$, the class $K_{\Sigma}^{\lambda, \alpha}$ reduces to the class $K_{\Sigma}(\alpha)$ introduced and studied by Brannan and Taha [2].

Theorem 2.2. Let the function $f \in \Sigma$ given by (1.1) be in the class $K_{\Sigma}^{\lambda, \alpha}$, $(0 \leq \lambda < 1, 0 < \alpha \leq 1, z \in U)$. Then

$$|a_2| \leq \frac{\sqrt{2}\alpha}{\sqrt{\alpha(1 - \lambda) + 2}}, \quad (2.5)$$

$$|a_3| \leq \frac{2\alpha}{3(1 + \lambda)} + \alpha^2, \quad (2.6)$$

and

$$|a_4| \leq \frac{\alpha}{(1 + 2\lambda)} [1 + 2(\alpha - 1)(1 + (\alpha - 2)/3)] + \frac{5\sqrt{2}\alpha^2}{\sqrt{\alpha(1 - \lambda) + 2}} (\frac{1}{3(1 + \lambda)} + \frac{2\lambda}{4(1 + 2\lambda)}) \quad (2.7)$$

Proof. It follows from inequalities (2.3) and (2.4) that

$$(1 - \lambda)f'(z) + \lambda\left(1 + \frac{zf''(z)}{f'(z)}\right) = [s(z)]^\alpha \quad (2.8)$$

$$(1 - \lambda)g'(w) + \lambda\left(1 + \frac{wg''(w)}{g'(w)}\right) = [t(w)]^\alpha, \quad (2.9)$$

where $s(z)$ and $t(w)$ in P and have the forms

$$s(z) = 1 + s_1z + s_2z^2 + s_3z^3 + \dots \quad (2.10)$$

and

$$t(w) = 1 + t_1w + t_2w^2 + t_3w^3 + \dots \quad (2.11)$$

Now, equating the coefficients in (2.8) and (2.9), we obtain

$$2a_2 = \alpha s_1 \quad (2.12)$$

$$3(1 + \lambda)a_3 - 4\lambda a_2^2 = \alpha s_2 + \frac{\alpha(\alpha - 1)}{2}s_1^2 \quad (2.13)$$

$$4(1 + 2\lambda)a_4 - 18\lambda a_2a_3 - 8\lambda a_2^3 = \alpha s_3 + \alpha(\alpha - 1)s_1s_2 + \frac{\alpha(\alpha - 1)(\alpha - 2)}{6}s_1^3 \quad (2.14)$$

$$-2a_2 = \alpha t_1 \quad (2.15)$$

$$-3(1 + \lambda)a_3 - 2\lambda a_2^2 = \alpha t_2 + \frac{\alpha(\alpha - 1)}{2}t_1^2 \quad (2.16)$$

and

$$-4(1 + 2\lambda)a_4 + 2(10 + 11\lambda)a_2a_3 - 4(5 + 3\lambda)a_2^3 = \alpha t_3 + \alpha(\alpha - 1)t_1t_2 + \frac{\alpha(\alpha - 1)(\alpha - 2)}{6}t_1^3 \quad (2.17)$$

From Equations (2.12) and (2.15), we obtain

$$s_1 = -t_1 \quad (2.18)$$

and

$$8a_2^2 = \alpha^2(s_1^2 + t_1^2) \quad (2.19)$$

Now, from Equations (2.13), (2.16) and (2.19), we obtain

$$[2(3 - \lambda) - 4(\alpha - 1)]a_2^2 = \alpha^2(s_2 + t_2)$$

Therefore, we have

$$a_2^2 = \frac{\alpha^2(s_2 + t_2)}{2[\alpha(1 - \lambda) + 2]}$$

Applying Lemma 1.1, for the coefficient s_2 and t_2 , we immediately have Equations (2.5).

Now, in order to find the bound on $|a_3|$ we subtract Equation (2.16) from Equation (2.13) and then use Equations (2.18) and (2.19) to obtain

$$(1 + \lambda)a_3 - 4\lambda a_2^2 + 3(1 + \lambda)a_3 + 2(3 + \lambda)a_2^2 = \alpha s_2 + \frac{\alpha(\alpha - 1)}{2}s_1^2 - \alpha t_2 - \frac{\alpha(\alpha - 1)}{2}t_1^2$$

Equivalently,

$$6(1 + \lambda)(a_3 - a_2^2) = \alpha(s_2 - t_2) \tag{2.20}$$

Therefore, we have

$$a_3 = \frac{\alpha(s_2 - t_2)}{6(1 + \lambda)} + \frac{\alpha^2(s_1^2 - t_1^2)}{8}$$

Applying Lemma 1.1 once again for the coefficient s_1, s_2, t_1 and t_2 , we immediately have Equation (2.6).

Now, in order to find the bound on $|a_4|$, we subtract Equation (2.17) from Equation (2.14) to obtain

$$\begin{aligned} 4(1 + 2\lambda)a_4 - 18\lambda a_2 a_3 + 8\lambda a_2^3 + (4 + 8\lambda)a_4 + 2(10 + 11\lambda)a_2 a_3 + 4(5 + 3\lambda)a_2^3 \\ = \alpha(s_3 - t_3) + \alpha(\alpha - 1)(s_1 s_2 - t_1 t_2) + \frac{\alpha(\alpha - 1)(\alpha - 2)}{6}(s_1^3 - t_1^3) \end{aligned}$$

Equivalently

$$\begin{aligned} 8(1 + 2\lambda)a_4 - a_2[20(1 + 2\lambda)a_3 - 20(1 + \lambda)a_2^2] \\ = \alpha(s_3 - t_3) + \alpha(\alpha - 1)(s_1 s_2 - t_1 t_2) + \frac{\alpha(\alpha - 1)(\alpha - 2)}{6}(s_1^3 - t_1^3) \end{aligned}$$

Then, by using Equations (2.18), (2.19) and (2.20), we have

$$\begin{aligned} 8(1 + 2\lambda)a_4 - a_2\left[\frac{20\alpha(1 + 2\lambda)(s_2 - t_2)}{6(1 + \lambda)} + 20\lambda a_2^2\right] \\ = \alpha(s_3 - t_3) + \alpha(\alpha - 1)(s_1 s_2 - t_1 t_2) + \frac{\alpha(\alpha - 1)(\alpha - 2)}{6}(s_1^3 - t_1^3) \end{aligned}$$

Now, applying Lemma 1.1 once again for the coefficient s_1, s_2, s_3, t_1, t_2 and t_3 , we have Equation (2.7).

This completes the proof of Theorem 2.2. □

2.2 Coefficient estimates of the function class $K_{\Sigma}^{\lambda, \beta}$

Definition 2.3. A function $f \in \Sigma$ given by (1.1) is said to be in the class $K_{\Sigma}^{\lambda, \beta}$ if the following conditions are satisfied

$$\operatorname{Re}\left\{(1-\lambda)f'(z) + \lambda\left(1 + \frac{zf''(z)}{f'(z)}\right)\right\} > \beta, \quad (2.21)$$

$$(0 \leq \lambda \leq 1, 0 < \beta \leq 1, z \in U)$$

$$\operatorname{Re}\left\{(1-\lambda)g'(w) + \lambda\left(1 + \frac{wg''(w)}{g'(w)}\right)\right\} > \beta, \quad (2.22)$$

$$(0 \leq \lambda \leq 1, 0 < \beta \leq 1, w \in U),$$

where the function g is an extension of f^{-1} to U given by (1.2).

Theorem 2.4. Let the function $f \in \Sigma$ given by (1.1) be in the class $K_{\Sigma}^{\lambda, \beta}$, $(0 \leq \lambda \leq 1, 0 < \beta \leq 1, z \in U)$. Then,

$$|a_2| \leq \frac{\sqrt{2}\beta}{\sqrt{\alpha(1-\lambda)+2}}, \quad (2.23)$$

$$|a_3| \leq \frac{(1-\beta)[2 + (\lambda-3)(1-\beta)]}{3(1+\lambda)}, \quad (2.24)$$

and

$$|a_4| \leq \frac{(1-\beta)}{2(1+2\lambda)} + \frac{\sqrt{2}(1-\beta)}{\sqrt{(\alpha(1-\lambda)+2)}} \left[\frac{5(1-\beta)}{3(1+\lambda)} + \frac{5(1-\beta)^2(\lambda-3)}{6(1+\lambda)} - \frac{5(1+\lambda)(1-\beta)^2}{2} \right] \quad (2.25)$$

Proof. It follows, from inequalities (2.21) and (2.22), that there exist $s(z) \in P$ and $t(w) \in P$ such that

$$(1-\lambda)f'(z) + \lambda\left(1 + \frac{zf''(z)}{f'(z)}\right) = \beta + (1-\beta)s(z), \quad (2.26)$$

$$(1-\lambda)g'(w) + \lambda\left(1 + \frac{wg''(w)}{g'(w)}\right) = \beta + (1-\beta)t(w), \quad (2.27)$$

where $s(z)$ and $t(w)$ have the forms (2.10) and (2.11), respectively.

Now, equating the coefficient in (2.26) and (2.27), we obtain

$$2a_2 = (1 - \beta)s_1, \tag{2.28}$$

$$3(1 + \lambda)a_3 - 4\lambda a_2^2 = (1 - \beta)s_2, \tag{2.29}$$

$$4(1 + 2\lambda)a_4 - 18\lambda a_2 a_3 - 8\lambda a_2^3 = (1 - \beta)s_3, \tag{2.30}$$

$$-2a_2 = (1 - \beta)t_1, \tag{2.31}$$

$$-3(1 + \lambda)a_3 - 2\lambda a_2^2 = (1 - \beta)t_2, \tag{2.32}$$

and

$$-4(1 + 2\lambda)a_4 + 2(10 + 11\lambda)a_2 a_3 - 4(5 + 3\lambda)a_2^3 = (1 - \beta)t_3 \tag{2.33}$$

From Equations (2.28) and (2.31), we obtain

$$s_1 = -t_1 \tag{2.34}$$

and

$$8a_2^2 = (1 - \beta)^2(s_1^2 + t_1^2) \tag{2.35}$$

Also, from Equations (2.29), (2.32) and (2.35), we obtain

$$3(1 + \lambda)a_3 - 4\lambda a_2^2 - 3(1 + \lambda)a_3 - 2(3 + \lambda)a_2^2 = (1 - \beta)(s_2 + t_2)$$

which is equivalent to

$$a_2^2 = \frac{(1 - \beta)^2(s_2 + t_2)}{2[\alpha(1 - \lambda) + 2]}$$

Now, by applying Lemma 1.1 , for the coefficient s_2 and t_2 , we have Equations (2.23).

Next, to find an estimate for $|a_3|$, we subtract Equation (2.30) from Equation (2.27) and use Equation (2.33) to obtain

$$3(1 + \lambda)a_3 - 4\lambda a_2^2 + 3(1 + \lambda)a_3 + 2(3 + \lambda)a_2^2 = (1 - \beta)(s_2 - t_2).$$

Equivalently

$$6(1 + \lambda)a_3 = \frac{(1 - \beta)(s_2 - t_2)}{6(1 + \lambda)} + 2(\lambda - 3)a_2^2$$

So, we have

$$a_3 = \frac{(1 - \beta)(s_2 - t_2)}{6(1 + \lambda)} + \frac{(1 - \beta)^2(s_1^2 + t_1^2)2(\lambda - 3)}{48(1 + \lambda)} \quad (2.36)$$

Applying Lemma 1.1 once again for the coefficient s_1, s_2, t_1 and t_2 , we immediately have Equation (2.24).

Now, to find an estimate for $|a_4|$ by subtracting Equation (2.33) from Equation (2.30), we obtain

$$\begin{aligned} 4(1 + 2\lambda)a_4 - 18\lambda a_2 a_3 + 8\lambda a_2^3 + (4 + 8\lambda)a_4 - 2(10 + 11\lambda)a_2 a_3 + 4(5 + 3\lambda)a_2^3 \\ = (1 - \beta)(s_3 - t_3) \end{aligned}$$

Equivalently

$$8(1 + 2\lambda)a_4 - a_2[20(1 + 2\lambda)a_3 - 20(1 + \lambda)a_2^2] = (1 - \beta)(s_3 - t_3)$$

Then, by using Equations (2.35) and (2.36), we have

$$\begin{aligned} a_4 = \frac{(1 - \beta)(s_3 - t_3)}{8(1 + 2\lambda)} + \\ a_2 \left[\frac{5(1 - \beta)(s_2 - t_2)}{12(1 + \lambda)} + \frac{5(1 - \beta)^2(s_1^2 + t_1^2)(\lambda - 3)}{48(1 + \lambda)} - \frac{5(1 - \beta)^2(s_1^2 + t_1^2)(1 + \lambda)}{16} \right] \end{aligned}$$

Now, applying Lemma 1.1 once again for the coefficient s_1, s_2, s_3, t_1, t_2 and t_3 , we have Equation (2.25).

This completes the proof of Theorem 2.4. \square

Acknowledgment

The author thanks the referee for his/her valuable comments and observations.

References

- [1] D. A. Brannan, J. G. Clunie (Eds.), Aspects of contemporary complex analysis, Proceeding of the NATO advanced study institute held at the Univ. of Durham, Durham, July 1-20, 1979, Academic Press, New York, London, 1980.
- [2] D. A. Brannan, T. S. Taha, On Some Classes of Bi-Univalent Functions, *Studia Univ. Babes-Bolyai Math.*, **31**, no. 2, (1986), 70–77.
- [3] P. L. Duren, Univalent Functions, In: *Grundlehren der Mathematischen Wissenschaften Band 254*, Springer-Verlag, New York, Berlin, Heidelberg, Tokyo, 1983.
- [4] B. A. Frasin M. K. Aouf, New subclasses of bi-univalent functions, *Appl. Math. Lett.*, **24**, (2011), 1569–1573.
- [5] M. Lewin, On a coefficient problem for bi-univalent functions, *Proc. Amer. Math. Soc.*, **18**, (1967), 63–68.
- [6] N. Mageh, T. Rosy, S. Varma, Coefficient estimate problem for a new subclass of bi-univalent functions, *J. Complex Anal.*, (2013), Article ID 474231, 1–3.
- [7] G. Murugusundaramoorthy, C. Selvaraj O. S. Babu, Coefficient estimates for pascu-type subclasses of bi-univalent functions based on subordination, *Int. J. of Nonlinear Science*, **19**, no. 1, (2015), 47–52.
- [8] U. H. Naik, A. B. Patil, On initial coefficient inequalities for certain new subclasses of bi-univalent functions, *Journal of the Egyptian Mathematical Society*, **25**, (2017), 291–293.
- [9] E. Netanyahu, The minimal distance of the image boundary from the origin and the second coefficient of a univalent function in $|z| < 1$, *Archive for Rational Mechanics and Analysis*, **32**, no. 2, (1969), 100–112.
- [10] S. Ozaki M. Nunokawa, The Schwarzian derivative and univalent functions, *Proc. Amer. Math. Soc.*, **33**, (1972), 392–394.
- [11] Ch. Pommerenke, *Univalent functions*, Vandenhoeck and Ruprecht, Göttingen (1975).

- [12] Saurabh Porwal, Maslina Darus, On a new subclass of bi-univalent functions, *J. Egyptian Math. Soc.*, **21**, no. 3, (2013), 190–193.
- [13] H. M. Srivastava, S. Khan, Q. Z. Ahmad, N. Khan, S. Hussain, The Faber polynomial expansion method and its application to the general coefficient problem for some subclasses of bi-univalent functions associated with a certain q -integral operator, *Stud. Univ. Babeş-Bolyai Math.*, **63**, (2018), 419–436.
- [14] H. M. Srivastava, A. K. Mishra, P. Gochhayat, Certain Subclasses of Analytic and Bi-Univalent Functions, *Appl. Math. Lett.*, **23**, no. 10, (2010), 1188–1192.